Reasoning

Syllogism

Direction(1-4):In each question below are given three statements followed by two
conclusions numbered | and Il. You have to take the given statements to be true even if
they seem to be at variance with commonly known facts and then decide which of the
given conclusions logically follows from the given statements, disregarding commonly
known facts.

Direction: =9 foT 7T yd® Uy # a9 Y= fau U & g a1 < ey | 3R 11 fer w
21 3MUH! 3T T HUA 1 I A1 8, Ul 8T d 9= U I J1d a&f I e udhid g1 8
3R TR T B 1P feu 77w FAept & A o9 91 FAshy G =0 J 1 9T D1 Sfaga
H g U U ol o1 Aifdhes 0 J S8R0 BT 3|

Givegnswer

IR

1)
Statements: All Moderna are Pfizer. All Pfizer are Covishield. Some SputnikV are
Pfizer.

FHYT: Gt A BRoR §. It BreoR Fifaxiie 81 $© WaHdy BEoR § |

Conclusions: I. Some Covishield are SputnikV.

et |. & Pifaxfic Hasy g

II. Some SputnikV are not Covishield.

II. o WPV Hifaice T8 g

1. If only conclusion | follows.

Ife Badt FIepT | SITERUT T B

2. If only conclusion Il follows.

i Had FsHY 11 3FER0I BT B |

3. If either conclusion | or Il follows.

afe; T dY e | 4T 11 SITER0T T B

4. If neither conclusion | nor Il follows.

gfe 7 at s | 3R T 8 i1 SFERU HRaAT B

5. If both conclusions | and Il follow.

gfe fepd | 3R 11 ST SR Hvd € |



Solution:

Pfizer

2)

Statements: Only a few Garbage are Dustbin. Only Bag is Clean. No Bag is Garbage.
HYT: HId HS TR S99 & | Had 97 FeiH 5 | ﬁs‘%ﬂ

Conclusions: I. All Clean can be Dustbin.

sy 1. Tt Fei Sefor 81 wehd ]

ll. At least some Dustbln are Bag.

Il FH Y HH $S ST 9T g |

1. If only conclusion | follows.

Ife Badt FIepT | SITERUT T B

2. If only conclusion Il follows.

i Had FsHY 11 3T BT B |

3. If either conclusion | or Il follows.

afe; T dY e | 4T 11 SITER0T T B

4. If neither conclusion | nor Il follows.

g Tt By | 3R A 8T 11 S8R IRaT 5 |

5. If both conclusions | and Il follow.

g fswY | SR 11 ST R0 xd & |



Solution:

Garbage .

Bag

3)

Statements: Some Book are Pen. Only few Pen are Glue. All Glue are Eraser.
FHYT: TS P O §. HId $S U7 8. G TR &

Conclusions: I. Some Glue are not Pen.

st |. o5 | 99 T8T B

Il. Some Pen are Eraser is a possibility.

Il. $© U & SXOR 511 BT TG &

1. If only conclusion | follows.

e Had F5HY | SURUI HRT |

2. If only conclusion Il follows.

e Had FHY 11 3FIERU HRAT 7 |

3. If either conclusion | or Il follows.

g a1 df fIset | 7 11 STERO1 HreAT & |

4. If neither conclusion | nor Il follows.

g Tt B | 3R A 8T 11 S8R IRaT 5 |

5. If both conclusions | and Il follow.

g fswy | SR 11 QT SR xd & |



Solution:

S8

4)
Statements: All Moderna are Pfizer. All Pfizer are Covishield. Only a few SputnikV are
Pfizer.

FHY: Tt AT BIoR 8. T BrEoR SR &1 Had $© YdHdV BIRoR § |

Conclusions: I. Some Moderna are SputnikV

e Iﬁﬂﬁﬂﬂﬁw%

Il. Some SputnikV can never be Pfizer

. $& YaepV Ff BIEoR T8 81 9Hhd §

1. If only conclusion | follows.

Ife Badt FIepT | SITERUT T B

2. If only conclusion Il follows.

i Had FsHY 11 3FER0I BT B |

3. If either conclusion | or Il follows.

afe; T dY e | 4T 11 SITER0T T B

4. If neither conclusion | nor Il follows.

gfe 7 at s | 3R T 8 i1 SFERU HRaAT B

5. If both conclusions | and Il follow.

gfe fepd | 3R 11 ST SR Hvd € |



Solution:

Pfizer

Puzzles

Q.(5-9) study the following information carefully and answer the questions given
below.

Eight boxes are placed one above the other. There are three boxes placed between D
and B. Two boxes are placed between A and H. Box H are kept just below box B. There
are two boxes between the box B and E. Two boxes are placed between the box C and
G. Box C is placed at the bottom. Box F does not place immediately below the box A.

fafeied STHeRI &1 eaFgde sreag &3 SR - fiu e ust & IR S|

3{TS J1FT DI Th P 3HUR Th Db W TATE | D R B P og dF Sl WA MU | A 3R H
P I ) S W U & | S1RT H D1 199 B & 31 A1 IWT AT 8| §1G B 3R E & o &
TR &1 S S, S C 3R G & g W U g | SidY C Jad 9 I 1 § | 919 F,

S A S 3 =9 T8 @ g

5.How many boxes are placed between box F and G?

ST F 3R G & 7Y fohda 9T 3@ T4 g2

a. One

TH

b. Two

al

c. Three

o=



d. More than Three

9 9 sifte

e. Non.e of these .
TTH T PIs el

Solution:From the given conditions, two boxes placed between A and H. Box H kept
just below box B. There are three boxes placed between D and B. There are two
possibilities-

Case-1 Case-2
Boxes Boxes
A D
B A
H

B

H
D

There are two boxes between the box B and E. Two boxes are placed between the box
C and box G. Box C placed at the bottom. Box F does not place immediately below the
box A. case-1 will be ruled out.

The final arrangement is-

=)
5
1]
7]

OE|@D|=|mg|™

6.Which of the following box is placed immediate above box A?

fFoferiad 7 ¥ & I1 910y, 9169 A & 3l HUR T 1 872

a. D
b. E
c. G
d H

e. None of these

3T A IS T



Solution:From the given conditions, two boxes placed between A and H. Box H kept just below box B.
There are three boxes placed between D and B. There are two possibilities-

Case-1 Case-2
Boxes Boxes
A D
E A
H

B

H
D

There are two boxes between the box B and E. Two boxes are placed between the box C and box G. Box
C placed at the bottom. Box F does not place immediately below the box A. case-1 will be ruled out.
The final arrangement is-

=)
%
1]
7]

Om@E|oEmglm

/.The number of boxes placed between box D and H is same as the number of boxes
placed between box and

WD@?H%WT@WWH%W 3R P o1 I TN S B
TS & FHM 8§72

a. AC
b. F,E
c. B,D
d CE

e. None of these
S8 9 BIg Aol
Solution:From the given conditions, two boxes placed between A and H. Box H kept

just below box B. There are three boxes placed between D and B. There are two
possibilities-



Case-1 Case-2
Boxes Boxes
A D
B A
H

B

H
D

There are two boxes between the box B and E. Two boxes are placed between the box
C and box G. Box C placed at the bottom. Box F does not place immediately below the
box A. case-1 will be ruled out.

The final arrangement is-

=)
%
i3
7]

oD@ (o= (m|o|m

8.Which of the box is placed on the top?

T DI T ST o SR @1 74T 82
a. F
b. D
c. A
d. G

e. Non.e of these .
ZTH I PIs el

Solution:From the given conditions, two boxes placed between A and H. Box H kept
just below box B. There are three boxes placed between D and B. There are two
possibilities-



Case-1 Case-2
Boxes Boxes
A D
B A
H

B

H
D

There are two boxes between the box B and E. Two boxes are placed between the box
C and box G. Box C placed at the bottom. Box F does not place immediately below the
box A. case-1 will be ruled out.

The final arrangement is-

=)
%
i3
7]

oD@ (o= (m|o|m

9
Which of the following statement is true about box G?

SN G & IR & fgferiad § A &9 91 $Y7 I 82

a. Box H is placed immediate below box G
Sia H, 9169 G P 31 HI @1 a1 8

b. Position of box G is fourth from the top
IR G HTRM SR I AU

c. Two boxes are placed between box G and E

ST G 3R E & HY <) 9199 I TN &

d. Not more than three boxes placed below box G

S G & A1 o ¥ 31fie sl g 3@ T §

e. Non.e of these .
TTH T PIs ol

Solution:From the given conditions, two boxes placed between A and H. Box H kept
just below box B. There are three boxes placed between D and B. There are two



possibilities-

Case-1 Case-2
Boxes Boxes
A D
B A
H

B

H
D

There are two boxes between the box B and E. Two boxes are placed between the box
C and box G. Box C placed at the bottom. Box F does not place immediately below the
box A. case-1 will be ruled out.

The final arrangement is-

g
w
L]

oD@ (o= (m(o|m

Seating Arrangement

Q.10-13 Study the following information carefully and answer the questions given
below:

fafafad SHER &1 eargded siera- Sifor 3R i fou T8 uslf & I fifor:

Six persons A, B, C, D, E and F are sitting around a triangular table such that three of
them sit at the corners and the rest on the middle of the side. The one who sits at the
corner face away from the centre and the one who sits at the middle of the side face
towards the centre.

B sits immediately to the right of C. One person sits between B and E. Two persons sit
between A and D. Both A and F are not sitting adjacent to each other. F does not sit on
any corner side of the table.

JE Afad A, B, C, D, E 3R F T BYHR I & IRI 3R 3 UHR 9 § fb 378 F <fH
B TR 3R A YT & A H 93 §1 B W 96 AfRT, $% Y T8 BT 3R I7W & 3R Yol



& A9 § 98 Afd &g B iR A 5|
B,CH 3% ql 931 5| B 3R E & &I U Afdd 96T 5| AR D F S al Afdd dd &1 A
3R F Gl U gOR & 3F el 96 & | F B & foell S IR g1 931 5 |

10.Who among the following sits immediately to the right of E?

faffed & ¥ B E & o e JaT1 82
a. C
b. D
c. F
d. A

e. Can’t be determined

fReuifed g fvar i geodn

Solution:From the given statements, B sits immediate to the right of C. One person sits
between B and E. Here we get 4 possibilities i.e., Case 1, Case 2, Case 3 and Case 4.

FARAN

Casze 3 Case 4

£/

Two persons sit between A and D. From this condition Case 3 and Case 4 are
eliminated.



Case 1 Case 2
A/D E

=
m

A/D

c D/A D/A ¢ B

Both A and F are not sitting adjacent to each other. F does not sit any corner side of the
table. Here Case 1 is ruled out now. So, the final arrangement-
E

11.Who among the following sits 4th to the right of F?

FEffed ¥ I HF F & 38 ¥ Y ™M R 3172
a. A
b. D
c. C
d. E
e. B

Solution:From the given statements, B sits immediate to the right of C. One person sits
between B and E. Here we get 4 possibilities i.e., Case 1, Case 2, Case 3 and Case 4.



AN

Case 3 Case 4

| A
C k : =l
E E C B

Two persons sit between A and D. From this condition Case 3 and Case 4 are
eliminated.
Case 1 Case 2

A/D E
A AU
¢ D/A D/A ¢ B

Both A and F are not sitting adjacent to each other. F does not sit any corner side of the
table. Here Case 1 is ruled out now. So, the final arrangement-
E

12.The number of persons sit between C and A, when counted to the left of A is the
same as the number of persons sit between D and ____ when counted to the left of ?

AP TR R I AW, C R A F da 93 Tfeadl 3t e, & 9 iR Y A R,



D3R & s 98 Afaqdl o T & T 872
a. B

b. E

C
d A
e. F

Solution:From the given statements, B sits immediate to the right of C. One person sits
between B and E. Here we get 4 possibilities i.e., Case 1, Case 2, Case 3 and Case 4.

AN

Case 3 Case 4

B A
C k : =l
E E C B

Two persons sit between A and D. From this condition Case 3 and Case 4 are
eliminated.
Case 1 Case 2

A/D E
A AU
¢ D/A D/A ¢ B

Both A and F are not sitting adjacent to each other. F does not sit any corner side of the



table. Here Case 1 is ruled out now. So, the final arrangement-
E

13.If A and D, are interchanged their position with each other then who among the
following sits immediate left of B?

ggeﬁvo,wﬁ%wwmww@ﬁ%a‘rﬁaﬁf@ﬂﬁ@raﬁq5$aﬁ$aﬁ

a. A
b. D
c. F
d. C

e. Non.e of these '
TIH Y PIs el

Solution:From the given statements, B sits immediate to the right of C. One person sits
between B and E. Here we get 4 possibilities i.e., Case 1, Case 2, Case 3 and Case 4.



AN

Case 3 Case 4

| A
C k : =l
E E C B

Two persons sit between A and D. From this condition Case 3 and Case 4 are
eliminated.
Case 1 Case 2

A/D E
A AU
¢ D/A D/A ¢ B

Both A and F are not sitting adjacent to each other. F does not sit any corner side of the
table. Here Case 1 is ruled out now. So, the final arrangement-
E



coded inequalities

Direction(14-18): In the following questions assuming the given
statement to be true, find which of the conclusion(s) among given
conclusions is/are definitely true and then give your answers
accordingly.

frd=r: Fufofad vt |, iU 7T wyH/mY &1 9@ A 8, 3 1 &
fob faw g el # @ 17 AR Fepy [Ridd TU 9 9 /8 quT daga
3 30 IR S|

14.

Statements:
K<L>M,N=0z=2P,K>Q>N
Conclusions:

.M>Q
.M =K
a. Only I is true
b. Only Il is true
c. Either | or Il is true
d. Neither | nor Il is true
e. Both I and Il are true

14. D Y-:
K<L>M,N=0O=P,K>Q>N
ﬁ'ﬁlﬁﬂf:

LM>Q

.M =K

a.WI%‘I’Eﬂ%

b. pad Il T &
c.ATA AT TG §

d. Ad T8 NI g

e. Gl 1 3R 11 TS &



Solution:

Given statements: K<L>M,N=0z=2P,K>Q>N
On combining: M<L=2K>Q>N=0=2P
Conclusions:

l. M > Q— False (as M < L 2 K> Q — hence clear relation between M
& Q cannot be determineD.

. M =2 K — False (as M < L =2 K — hence clear relation between M &
K cannot be determineD.

Hence, neither conclusion | nor Il is true.

15.Statements:
K<sL>M,N=02P,K>Q>N
Conclusions:

. K=0

. K>0

a. Only I is true

b. Only Il is true

c. Either | or Il is true

d. Neither | nor Il is true
e. Both I and Il are true

15. 9 Y-:
K<L>MN=O=P,K>Q>N
ﬁ'ﬁlﬁﬂf:

.LK=0

1. K>0

a.%ﬁl‘v'lﬁ%

b. Had Il et g

c. aIaN a7 T8t g

d. 9dagnag g



e. G 1 3R 11 TS 8

Solution:

Given statements: KSL>M,N=0=2P,K>Q>N
On combining: M<L=2K>Q>N=02P
Conclusions:

. K=0— False (asK>Q>N=0—-K>0)
I.LK>0 - True(asK>Q>N=0 —-K>0)

Hence, only conclusion Il follows

16.Statements:
K<sL>M,N=02P,K>Q>N
Conclusions:

. L=K

II.L>K

Only | is true

Only Il is true

Either | or Il is true

Neither | nor Il is true

Both | and Il are true

T 0T

16.5HY:
K<L>M,N=0=2P,K>Q>N

A IAT TR ®
CAd T8 gsl g
CaFT 3R T 8

O O O T 9



Solution:

Given statements: K<L>M,N=0z=2P,K>Q>N
On combining: M<L=2K>Q>N=0=2P
Conclusions:

l. L =K — False (as L 2 K — hence clear relation between L & K
cannot be determineD.

ll. L > K — False (as L =2 K — hence clear relation between L & K
cannot be determineD.

Here, conclusions | and Il are complementary pair, so either
conclusion | or Il is true.

17.Statements:
K<L>M,N=02P,K>Q>N
Conclusions:

I.N=P

II.N>P

a. Only | is true

b. Only Il is true

c. Either | or Il is true

d. Neither | nor Il is true

e. Both | and Il are true

17. 9 Y:
K<L>M,N=02P,K>Q>N
ﬁ'ﬁlﬁﬂf:

ILN=P

II.N>P

a.%ﬂlﬂ(ﬁ%

b. Had Il et g

c. TN T8t g

d.9d T8 I8 g



e. Gl 1 3R 11 TS 8

Solution:

Given statements: KSL>M,N=0=2P,K>Q>N
On combining: M<L=2K>Q>N=02P
Conclusions:

. N2P— True(as >N=02P ->N=z=P)

ILN>P — False(as > N=0=P -N=P)

Hence, only conclusion | follows.

18.Statements:
K<sL>M,N=02P,K>Q>N
Conclusions:

.L>M

. K>N

Only | is true

Only Il is true

Either | or Il is true

Neither | nor Il is true

Both | and Il are true

T 0T

18. Y
K<L>M,N=0O2P,K>Q>N
ﬁ'ﬁlﬁﬂf:

LL>M

I K >N

a.%ﬁl‘v'lﬁ%

b. Had || el g

c. AIaAN I Tet g

d. 9daginag g

e. TH I 3R 11 TS &



Solution:

Given statements: K<L>M,N=0z=2P,K>Q>N
On combining: M<L=2K>Q>N=0=2P
Conclusions:

l.L>M— True (as > M <L —»L>M)

II. K>N— True (as = K>Q >N — K> N)

Hence, both conclusion | and conclusion Il are true.

Alphanumeric series

Direction(19-23):Study the following arrangement carefully and answer the
guestions given below:

Direction:FHIRId SIaR &1 AFYd® 3199+ Hiford 3R el fau T ueif & IR SIfor:
MAET%JI90B@USBON#WF1V7*2AH3Y5$6K

19)Which of the following is the ninth to the right of the seventeenth from the right end of
the above arrangement?

19)FEfITEd & ¥ D19 IR HTRIT & & B8R ¥ 17 3 & g1 I Aai g2
1.A

2. %

3.0

4.vY

5. 370 U PIs el

Solution:9th to right of 17th from right= 8th from right= A

20)What should come in place of the question mark (?) in the following series based on
the above arrangement?

20)SWRIdd AT & YR R Fyfeiiad gaer o uydraes fag (2) & R R A1 37



q1eq?

4T% 9B@ 8N# FV7 ?
1.2H3

2.2HY

3. *AH

4.%A3

5. 30 9 PIs 8l

Solution:2H3

21)Four of the following five are alike in a certain way based on their positions in the
above arrangement and so form a group. Which is the one that does not belong to that
group?

21)SWIad a1 T U+ fRUfd & 3nyR R Fafefed uia O § 9R v g i
UM & 3R T Tg -1 8 | I T Ueh I Wg I Faiferd et 872

1.JOT
2.35A
3.$KY
4. A3~
5. 80@
Solution:8 © @

22)How many such vowels are there in the above arrangement, each of which is
immediately preceded by a number and immediately followed by a consonant?

zg)Gq%ﬁWWﬁ@ﬁmﬁw%,ﬁﬂﬁ@W%mmwmaﬁvwmw
o 22

1. None

PIS el

2. One
Th



3. Two

al

4. Three
GG

5. Four
IR

Solution:4ET, 2AH, 90B

23)How many such numbers are there in the above arrangement, each of which is
immediately followed by a symbol and immediately preceded by a consonant?

23)3WRIFd TR H T fpa =TS &, Fo8 W UdD & 31 dlc Th Udid 3R Slh

Ugdl U Sdoi 87

=

. None

el

ne

&

N

o, w

4. Three

o=

5. More than three

9 9 aifte

Solution:V7*, Y5%

Puzzles

Direction(24-29):Study the following information carefully and answer the
guestions given below.

Eight persons J, K, L, M, N, O, P and Q will have to attend the meeting in the August
and September month. In each month, they will attend the meeting on different dates 1,
5, 15 and 17 of the given months.



J will attend the meeting on the 5th of September. Three persons will attend the meeting
between J and P. More than two persons will attend the meeting between P and M. Two
persons will attend the meeting between M and Q. Three persons will attend the meeting
between Q and L. K will not attend the meeting immediately before or immediately after
the dates on which Q attend the meeting. K will not attend the meeting on 15th
September. Two persons will attend the meeting between N and O. N will attend the
meeting in August month.

%ié'%ction:ﬁg%@ﬁ SHGRI &1 YD 37eag Hiford R - 3T T s & IR

|

TS AfAT J, K, L, M, N, O, P 3R Q & 3R 3R Ryder AgA # MfeT & ymr d-n g
Ud® HeH H, 9 fou U 7l ot faftr fafday 1, 5, 15 3R 17 &Y Aifer & v d

J, 5 RdsR & HifEn & yrr o J 3R P & s HifEn 7 i afag yrr i p iR M &
& S T 31feew safdd U AN M 3R Q & diw gl fad HfFT H UM AN Q 3R L &
s & cafaa Hifen & yrr A1 K, o fafty 1 @ Hifen & T dar §, 39 St uga Al
3 T1e o1 HifeT H Iufyd 781 81T K, 15 RdR S e # i i gimiN iR 0 &
St W& 7 3 afaq URT | N, SR HeiH | HIfeT H HIT o

24)Who among the following will attend the meeting on 5th August?

24) AR B ¥ 3 5 3FTRd BT HfET § YFT M

1.L

2.P

3.0

4.]

5M

Solution:From the given statements, J will attend the meeting on 5th of September.
Three persons will attend the meeting between J and P. More than two persons will
attend the meeting between P and M. Two persons will attend the meeting between M

and Q. Three persons will attend the meeting between Q and L. Here we get two
possible cases-

Month Date Case 1 Case 2
Persons Persons

1 L

5 P P
August 15

17 Q

1 Q

5 ] ]
September 15 M

17 M L

K will not attend the meeting immediately before or immediately after the dates on which
Q attend the meeting. K will not attend the meeting on 15th September. Two persons will
attend the meeting between N and O. By this condition Case-2 will be cancelled. Also, N



will attend the meeting in August month. Final arrangement will be-

Month Date Persons
1
5
August 15
17
1
5
September | 15
17

zlol—lo|z|m=|w| e

25)How many persons will attend the meeting between P and O?

25)P 3R 0 & g Hifen # fan safda wfra gie

4. Two

al

5. Four
R

Solution:From the given statements, J will attend the meeting on 5th of September.
Three persons will attend the meeting between J and P. More than two persons will
attend the meeting between P and M. Two persons will attend the meeting between M
and Q. Three persons will attend the meeting between Q and L. Here we get two
possible cases-



Month Date Case 1 Case 2
Persons Persons

1 L

5 P P
August 15

17 Q

1 Q

5 ] ]
September 15 M

17 M L

K will not attend the meeting immediately before or immediately after the dates on which
Q attend the meeting. K will not attend the meeting on 15th September. Two persons will
attend the meeting between N and O. By this condition Case-2 will be cancelled. Also, N

will attend the meeting in August month. Final arrangement will be-

Month Date

Persons

1

5

August 15

17

1

5

September | 15

17

zlo—lo|z|= ||

26)Q will attend the meeting on which of the following day?

26)Q FMgfeiad # ¥ fog fa HifeT & ym o

1. 5th August
5 A

2. 1st August
1 3IRd

3. 17th August
17 3

4. 17th September
17 RamsR




5. None of these

3 A BIE Tl

Solution:From the given statements, J will attend the meeting on 5th of September.
Three persons will attend the meeting between J and P. More than two persons will
attend the meeting between P and M. Two persons will attend the meeting between M
and Q. Three persons will attend the meeting between Q and L. Here we get two

possible cases-

Month Date Case 1 Case 2
Persons Persons

1 L

5 P P
August 15

17 Q

1 Q

) ] ]
September 15 M

17 M L

K will not attend the meeting immediately before or immediately after the dates on which
Q attend the meeting. K will not attend the meeting on 15th September. Two persons will
attend the meeting between N and O. By this condition Case-2 will be cancelled. Also, N
will attend the meeting in August month. Final arrangement will be-

Month Date Persons
1
5
August 15
17
1
5
September | 15
17

zlo—lo|z|=|v|r

27)If Lis related to K and Q is related to O then in the same way N is related to?

27)afe L, K q Tefid § 8iR Q, 0 § Tafd § df I8 UK N fobad Taifdd 372
1.L

2.P



3.0
4.J
5. M

Solution:From the given statements, J will attend the meeting on 5th of September.
Three persons will attend the meeting between J and P. More than two persons will
attend the meeting between P and M. Two persons will attend the meeting between M
and Q. Three persons will attend the meeting between Q and L. Here we get two
possible cases-

Month Date Case 1 Case 2
Persons Persons

1 L

5 P P
August 15

17 Q

1 Q

5 ] ]
September 15 M

17 M L

K will not attend the meeting immediately before or immediately after the dates on which
Q attend the meeting. K will not attend the meeting on 15th September. Two persons will
attend the meeting between N and O. By this condition Case-2 will be cancelled. Also, N
will attend the meeting in August month. Final arrangement will be-

Month Date Persons
1
5
August 15
17
1

5
September | 15

17

zlo—lo|z |||

28)Who among the following will attend the meeting on 1st August?

28)FUffad § A B 1 3R T HIfET & 1T e

1.L



2.P

3.0

4. N

5 M

Solution:From the given statements, J will attend the meeting on 5th of September.
Three persons will attend the meeting between J and P. More than two persons will
attend the meeting between P and M. Two persons will attend the meeting between M

and Q. Three persons will attend the meeting between Q and L. Here we get two
possible cases-

Month Date Case 1 Case 2
Persons Persons

1 L

5 P P
August 15

17 Q

1 Q

3 I I
September 15 M

17 M L

K will not attend the meeting immediately before or immediately after the dates on which
Q attend the meeting. K will not attend the meeting on 15th September. Two persons will
attend the meeting between N and O. By this condition Case-2 will be cancelled. Also, N
will attend the meeting in August month. Final arrangement will be-

Month Date Persons
1
5
August 15
17
1
5
September | 15
17

zlo—lo|z|=|v|r

Coding & Decoding

Direction (29 to 32): Study the following information carefully and answer the
guestions given below. In a certain code:

‘Student online classes’ is written as ‘ru ri be’,

‘Exam postponed schemed’ is written as ‘ta no pa’,

‘Cancelled complete classes postponed’ is written as ‘do ri pa pi’

‘Exam complete student online’ is written as ‘ru be do no’.



Direction : fgfifad &R &1 eAMYd® HeTa- H1 3R -iid foU T8 uslf & IR S|
T Figd ore #:

‘Student online classes’ ®! ‘ru ri be’ f%l"@TGﬂ?ﬂ%

‘Exam postponed schemed’ P! ‘ta no pa’ forar Sran %

‘Cancelled complete classes postponed’ B ‘do ri pa pi’ ﬁ‘l"@TG‘IﬁT%

‘Exam complete student online’ @1 ‘ru be do no’ feraT ST %

29) What is the code for ‘online’?

29) ‘online’ & fATT e FIT 82

a) ri

b) be

C) ru

d) do

e) Can’t be determined

feifed 78t fopar S waod
Solution:

Words Code
Classes Ri
Student/online | be/ru
Postponed Pa
Exam No
Schemed Ta
Complete Do
Cancelled Pi

30) What does ‘ru’ stand for?
30) ‘ru BT 3 g2

a) Student

b) Either (A) or (D)
1 di (A) I1 (D)

c) Classes
d) Online

e) None of these

3T A DS T



Solution:

Words Code
Classes Ri
Student/online | be/ru
Postponed Pa
Exam No
Schemed Ta
Complete Do
Cancelled Fi

31) Which of the following is the code for ‘Exam Postponed schemed Student Classes’?

31) fFafafead# 9 Ak P < ‘Exam Postponed schemed Student Classes’ & f%m %?
a) no paritado
b) tari pa no be
c) tanoruripa

d) Either (b) or (c)
1 di(b) 7 (c)

e) None of these

T A DS T

Solution:
Words Code
Classes Ri
Student/online | be/ru
Postponed Pa
Exam No
Schemed Ta
Complete Do
Cancelled Fi

32) Which of the following code stands for ‘Postponed’?

32) Fefafeada ARkl D ‘Postponed’ & fau g7
a) ri
b) no

c) pa



d) do

e) None of these

&1 3 B
Solution:

Words Code
Classes Ri
Student/online | be/ru
Postponed Pa
Exam No
Schemed Ta
Complete Do
Cancelled Fi

Problems on Digits

Q.33 If in the number 78364925, 1 is added to each of the even digits and 1 is
subtracted in each odd digits, then all digits are arranged in ascending order from left to
right. Then which of the following digit is 5th from the right end?

30) Tfc T 78364925 H, YD TH 3id H 1 SST Wl § 3R U fIvH 3ic6 T 1 g
W%,aﬂmaﬁﬁaméaﬁ&mwﬁm@mmw%ﬁﬁuﬁﬁaﬁﬁaﬁq
7 3 a8 BR J 531 872

a 3

b) 7
c) 6
d) 5
e) 8
Solution:
Given Number-78364925

After applied given condition-69275834
Arranged in ascending order - 234 56789

Seating Arrangement

Direction(34-38): Study the following data carefully and answer the questions accordingly.
Seven people J, K, L, M, N, O, and P are sitting around a circular table facing outside the
center. Two people sit between O and N. Two people sit between N and P. M sits immediate



right of L. N and M are not immediate neighbors. K and N are not immediate neighbors. At
least two people sit between J and P from the left of J.

frdr:

FAATIRIT STH®RT @1 YaMYad YT B dUT dgIaR URHI
& IR <

q1d qafad 3l J, K, L, M, N,

O 3R P %% Y d18R B! 3R T Hb U MATDHR Hol ! aRI 3T
RISEIO MR NT dgal qafad 9S &1 N 3R P & o9 &l qafad
IS 81 M, L P! 31b a8 3R 9adT g1 N 3R M Rdbead g gl
g1 K 3R N ey st =6t

gl JHI TR AR Y J 3R P & dd HH Y HH ¢ gIfad 96 5|

34)Who sits immediate right of K?

a) N
b) J
c) P
d O
e) None of these

34)K P 31 TT3 3R I 98T 872
N
5
c)P

d) O
e) T8 ¥ DIs g

Solution:

1) Two people sit between O and N.



Case 1l Case 2

N
j N :
O 0]
2) Two people sit between N and P.

3) M sits immediate right of L.

4) N and M are not immediate neighbors.

Casel Case 2

N
N L
P L M
o) M O s

5) K and N are not immediate neighbors.



Case 1l Case 2

O M o)

6) At least two people sit between J and P from the left of J.

(Here, case 1 will be eliminated)

N

0 P

Therefore, option B is the correct answer.

35)Who sits third to the right of J?
a) L
b) P
c) M
d O



e) No one

35)J B T3 3R TV TR WM WR S 931 52
L
P
c)M
d)o

e) PIs I8!

Solution:

1) Two people sit between O and N.

Case 1l Case 2

O o)

2) Two people sit between N and P.
3) M sits immediate right of L.

4) N and M are not immediate neighbors.



Casel Case 2

N
N L
P L M
o) M O P

5) K and N are not immediate neighbors.

Case 1l Case 2

J N
K N J L
P L K M
0O M O P
6) At least two people sit between J and P from the left of J.

(Here, case 1 will be eliminated)



0O P

Therefore, option C is the correct answer.

36)Who sits between N and M, when counted from left of M?
a) K
b) P
c) O
d L
e) None of these

%%N MR M & §IF B 9od1 8, S M BT d18 3R I TUHT D1 o
?

a) K

b) P

c) O

d) L
e) T8 ¥ DIs g

Solution:

1) Two people sit between O and N.



Case 1l Case 2

N
j N :
0] 0]
2) Two people sit between N and P.

3) M sits immediate right of L.

4) N and M are not immediate neighbors.

Casel Case 2

N
N L
P L M
o) M O P

5) K and N are not immediate neighbors.



Case 1l Case 2

O M O

6) At least two people sit between J and P from the left of J.

(Here, case 1 will be eliminated)

N

0 P

Therefore, option D is the correct answer.

37)What is the position of O from N?
a) Third to the left
b) Fourth to the left
c) Third to the right
d) Fifth to the right



e) None of these

37)N ¥ O & fufq 1 82
a) 915 3R T ORI
DEEEEREER)
c)a'ﬁﬁ\?ﬁ?“@f?ﬂﬂﬂ
d) TS 3R ¥ ufa
e) TTH A B Tal

Solution:

1) Two people sit between O and N.

Case 1l Case 2

O o)

2) Two people sit between N and P.
3) M sits immediate right of L.

4) N and M are not immediate neighbors.



Case 1l Case 2

N
N
P L
O M O

5) K and N are not immediate neighbors.

Casel Case 2
J N
K N J
P L K
0O M O

6) At least two people sit between J and P from the left of J.

(Here, case 1 will be eliminated)



0O P

Therefore, option A is the correct answer.

38)Find the odd one.
a) M,N
b) O,J
c) K,P
d P,N
e L,J

38)favH Ue J1d B |
a)M, N
b) O, J
c)K,P
d)P, N
eL,J

Solution:

1) Two people sit between O and N.



Case 1l Case 2

N
N
O 0]

2) Two people sit between N and P.

3) M sits immediate right of L.

4) N and M are not immediate neighbors.

Case 1 Case 2
N
N
P L
O M 0]

5) K .and N are not immediate neighbors.



Case 1l Case 2

o) M o) P

6) At least two people sit between J and P from the left of J.

(Here, case 1 will be eliminated)

N

0 P

Therefore, option D is the correct answer.

Alphanumeric series

Direction (39-40): Study the sequence carefully and answer the questions given below.

41$O©0TMI&EBQ @ 9#27 85 € #6 L5 ¥ 4Y8a3P72%3



fIGRT: 3P H &1 AMYa® 3ega- B auT =i QU T U=l &
SR ¢ |

41% ©O0TM9&EBQ @ 9#27 =85 € #

6 U5¥4Y8a3B72%3

39)How many odd numbers are there between the third element from left end and
fourth symbol from the right end?

a) Two

b) Three

c) More than five
d) Five

30)FT0 BR T JRR T 3R 2S¢ B8R I Y Ui & A fra-it
faurs dw=m 572

a)?ﬁ

b) dF

DLEEEIRED

d) Ui

Solution: d
413 ©0M9&EBQ @ 9#27 285 € #6 U5 ¥ 458a3B72%3

Clearly, five odd numbers are there between the third element from left end and
fourth symbol from the right end.

40)Which of the following elements is exactly between the 10" element from left end
and 12" element from right end?

a) 2

b)

c) 7

d 8

e) None of these



20T H T P AT dd 91¢ BR T 104 dd 3R MW IR I 123 dd
P 3lp A H g2

a) 2

b) =

c)7

d) 8

e) 374 q P el

Solution: b
41 % ©O0TM9&EBQ @ 9#27 285 € #6 U5 ¥ 45>8a0a3B72%3

Clearly, ‘<’ is exactly between the 10" element from left end and 12" element from
right end.

Numerical ability

Simplification

Direction (41-47): What value should come in place of the question mark (?) in the following
guestion?

fd=1(41-47): Fgfatad uy o Uy fag (?) & M W SF 1AM 37T 1igE?
41.26% of 750 — 17% of 460 = ?

a) 122.7

b) 114.9

c) 107.7

d) 116.8

e) 126.8

Solution:

26% of 750 — 17% of 460 = ?

26 17
750 —
L oo 100 100

= ?7=195-78.2=116.8

x 460




J121 x 25) + 44 — ? =1.25
2. )

a) 8
b) 6
c) 7
d 5
e) None of these

Solution:
(lel x 25) + 44 -2 =1.25

= (11 x 25) + 44 —1.25 = ?
=6.25-1.25=7?

=7 =5

43.2530 +? +10=12.65
a) 25
b) 20
c) 31
d) 30
e) 40

Solution:

2530 +?7+10=12.65

2530
= 125 = 1265

= 2530 = 126.5 x ?
=7 =20

444 x52 P xT7T+62=72+24
a) 7°
b) 82
c) 92
d) 42
e) 32

Solution:



4x52_-32xT7+6°=7+24
=7=4x25-9x7+36-24
=?7=100-63+36-24
=7?7=49

=72=72

452 = (5)3 — 3 + (4)% + (7)?
a) 185
b) 190
c) 191
d) 187
e) 201

Solution:

?=5"-3+42+7?
=125-3+16+49
=187

46. (840 +6+4+79)— 1316 + (19x5-48) =7
a) 611
b) 75
c) 86
d) -90
e) -95

Solution:

(840 = 6 + 4 +79) — 1316 + (19 x 5 48) = ?
= (35 +79) — 1316 + (47) = ?

= (35+79) - 28="2

=7 =86

47 V361« V2561 4=7x 1444
a) 1
b) 2
c) 4
d) 5
e) 6

Solution:



\‘|'361x \1256_4:')x \|'14‘4‘4‘

16

=19x % =7x38
=19x4=7?x238

=7=2

Time and distance

48. A bike goes 30 km and returns 20 km in 6 hour and 4 hour respectively. Find the
average speed of the bike.

a) 4 km/h
b) 3 km/h
c) 6 km/h
d) 2 km/h
e) 5km/h

48.

TP 915 HAT: 6 °e 3R 4 92 H 30 fHH) St 7 3R 20 foredt amug ol B 1 915 1 8iigd
Tfd J1d BT

a) 4 fedieer

b) 3 fedider

c) 6 fadiEer

d) 2 faeirear

e) 5 faHiEer

Solution:

According to the question,

Total distance travelled by bike

Average speed of the bike = Total time taken by the bike

30 + 20
Or, Average speed of the bike = 6+4 =5km/h

Therefore, average speed of the bike is 5 km/h



Quadratic equation

49. Find the average of the roots of the quadratic equation x> —4 = 0.

a) 2
b) -2
c) -1
d) 4
e) 0

49.. fgaTd THiHRUT X2 ~ 4= 0 & Al BT 3d 1d DI |
a) 2
b) -2
c) -1
d) -4
e) 0
Solution:

First we have to find the roots of the quadratic equation —

Since, x> —4 =0.

Or,x= 2
Sum of the roots of the quadratic equation=2-2=0

Therefore, average of the roots of the quadratic equation is 0.

Simple Interest

50. The ratio of Principal and Amount after one year is 5 : 10, then the rate of interest per
annum is?

a) 50%
b) 75%
c) 100%
d) 70%
e) None of these

50. U Y & TG A 3R YRIR HT U 5 : 10 §, 79 Ufday &S &R 1 82

a) 50%



b) 75%
c) 100%
d) 70%

e) TTH ADIS TEI
Solution:
Let Principal = 5x
Amount = 10x

Therefore interest = (10x — 5x) = 5x

5x

Rate of Interest per annum = 5x x 100 = 100%

Mixture & allegations

51)Two vessels X and Y of mixture water and syrup in the ratio of 4: 5 and 5: 7
respectively. If they are mixed in the ratio of 2: 3, then find the ratio of water and syrup in
the final mixture.

51)TTT 3R RIRT & 1301 & 1 9 X 3R Y HHT: 4: 5 3R 5: 7 F U A g1 e I
2:3 % 3UTd H fAreman Sirar g, < sifad firsror & ot SR RRU &1 srgurd I1d Sifoe |

1.77:103
2.61:59
3.73:87
4.81: 109
5.97: 73

Solution:
Let quantity of mixture X and Y be 72 lit and 108 lit respectively.
ATQ
Quantity of water in mixture X = 72 x % =321t
Quantity of syrup in mixture X = 72 — 32 = 40 [it
Quantity of water in mixture Y = 108 x 15_2 = 45 [it

Quantity of syrup in mixture ¥ = 108 — 45 = 63 lit
32445

40+63

So, required ratio =
77
103



Pipes and Cistern

52)Pipe A, B and C together fill a tank in 8 hours. All the pipes are opened together.
After 4 hours pipe B closed and remaining part of the tank filled by pipe A and C in 6
hours. Find the time taken by pipe B alone to fill the tank.

52)0713Y A, B 3R C flId®R Te & B 8 ¢ T WRd ¢ | Tt UISU Ue Wiy Wl 9 g | 4 °9¢
& 91 U3 B DI &G o1 9ITdl 5 SR UISU A 3R C §RT <& HI Y YT 6 e H R Sl 6|
3 B WA & 7T 31 UTgy B gRT foram an gw 31d SifvTg

1. 24 hours

24 °e

2. 18 hours
18 e

3. 36 hours
36 Gc

4. 30 hours
30 ©c

5. 20 hours
20 G¢

Solution:
Pipe A, B and C fill the empty tank in 8 hours.
All the pipe are opened together for 4 hours, so half tank is filled .
Half tank filled by A, B, C = 4 hours
And half tank filled filed by A and C in = 6 hours
Let capacity of half tank be 12 units.
So, efficiency of pipe A, B and C together and pipe A and C together is 3 units/hour and 2
units per hours respectively.
Therefore, efficiency of pipe B = 1 units /hour
Time taken by pipe B to fill halftank =1 X 12 = 12 hours
So, required time = 12 X 2 = 24 hours




Compound interest

53) Anurag invested Rs. 15000 in scheme A at Sl for 2 years at 15% per annum. If he
again invests the total amount received from scheme A in scheme B at compound
interest at 20% per annum for 2 years, then find the interest obtained in scheme B.

53)3FIRTT = AlorT A T HIYRUN 19T TR 2 T o fo1T 15% Ul I8 &1 &R ¥ 15000 I ]
fYa=r fopan | A a8 AioFT A T Ul S AT 1 AT B H 20% Uil I Iohqig ST IR 2
I8 & T GIaRT Fa=1 &xal ©, df Ao B H I SATef 1 Hiforg|

1. Rs. 7260

2. Rs. 4850
3. Rs. 5860
4. Rs. 8580
5. Rs. 6390

Solution:
15000x15x2

Amount received from scheme A = 15000 + 00

= 19500
ATQ

o 22
Interest received from scheme B = 19500 [(1 + %) - 1]

= 19500 X —
253
— Rs.8580

Profit & loss

54)Aman and Amit started a business. The ratio of time invested by Aman and Amit is 9:
13 and ratio of time invested by them 4: 5 respectively. If the total profit is Rs. 25250,
then find the profit share of Aman.

54)3(F 3R ST 3 T SqauTg LR fohdT| 3 3R SifHd gRT % fu e v &1
3IIOT SR 9:13 § MR 3% gRI (a%T fhT 7T T &7 U HHRT: 4:5 5| Afe $d
Y 25250 JUT g, o 3 T a1 fexam 1d S|

1. Rs. 11250

2. Rs. 9000

3. Rs. 8750



4. Rs. 12000
5. Rs. 13500

Solution:

Ratio of profit share of Amanand Amit=9 x4 : 13 X5
= 36:65
So, required amount = % ® 25250 = 9000

Percentage

55) A shopkeeper marked up the price of an article by 60% and then give two
successive discounts of 20% and 10% and sold the article at Rs. 1152. Find the cost
price of the article.

55)wgﬂmﬁwaﬂﬁmﬁ60%ﬁq@ﬁsﬁ?ﬁwm% 3R 10% @ & HiAD
Be dl 3R a¥g B 1152 30U H 97 &I 9] BT oY Hed Jd Do

1. Rs. 1000
2. Rs. 840
3. Rs. 1050
4. Rs. 960
5. Rs. 1100

Solution:

Let cost price of the article be Rs. 100x.

Marked price of the article = 100x X % = 160x

Selling price of the article = 160x x 2 x 2 = 115.2x

100~ 100
ATQ

115.2x = 1152

x =10

So, cost price of article = 100x = Rs. 1000

Number Series



Direction(56-60):Find out the wrong term in the given series.

Direction(56-60):<l 78 sRaa & TTad Ug 1d BT |
56)

344,217, 126, 63, 28, 9, 2
1. 344

2.217

3.63

4.9

5.28

Solution:

Wrong number = 63

Here the pattern is:

73+ 1 =344

63+1 = 217

53+1 =126

43+1 = 65

33+ 1=28

23+ 1=9
1¥*+1=2

57)

2,6, 12, 20, 30, 45, 56
1.6

2.12

3.20

4. 30

5.45

Solution:

Wrong number = 45
Here the pattern is:
2+4 =6

6+6 =12
12+8 = 20



20+10=30

30+12 = 42
42 + 14 = 56
58)

157, 201, 245, 289, 332, 377, 421
1. 377

2.332

3. 289

4. 245

5. 157

Solution:

Wrong number = 332
Here the pattern is:
157+44 = 201
201+44 = 245
245+44 = 289
289+44 = 333

333+44 = 377
377 + 44 = 421.

59)
64, 34, 36, 56, 114 , 287, 860
1.114

2. 860

3. 64

4.36

5. 56



Solution:
Wrong number = 860.
Here the pattern is

64 34 36 o6 114 287 863

x 0.5+42 =142 x15+2 x2+2 x2.5+2 x3+2

60)

49, 100, 202, 406, 814, 1633, 3262
1. 100

2. 3262

3. 406

4. 814

5. 1633

Solution:

Wrong number = 1633
Here the pattern is:
49x2+2 =100
100x2+2 = 202
202x2+2 = 406
406x2+2 = 814
814x2+2=1630

1630 x2+2=3262

Data Interpretation

Direction (61 to 65 ) :The given table shows the data related to five students
and the total number of movies watched by them during a period of ten years.
Total number of movies = Number of Hollywood movies + Number of Bollywood
movies.



& i aifereT, uiw faenfial @ Twifia sriwst 3k gF auf &t 3rafy & IR I
RT3 T fret &Y pa e $ il 21
firenl @ pa I@ = gidigs fhedl &1 W@ + didigs el o G=

Students | Total number of movies waiched | Ratio of Hollywood to Bollywood movies
A 350 4:3
B 400 11:9
C 250 3:7
D 200 13:12
E 375 16:9
=T | =97 T TohedT i1 e T | Zidids & Jidigs el ¥ Aq919
A 350 4:3
B 400 11:9
C 250 3:7
D 200 13:12
E 3r5 16:9

61) What is average number of Bollywood movies watched by students A, B and D
together?

61) A, B 3R D faenfat grT firaex o&t wi diciigs fhert ot Sifd e farat 82
a) 132
b) 138
c) 142
d) 144
e) 146

Solution:
a, . . 1z
35GX:+EGEK;+_GE?E _ 150+180+96

Required average =
=142

3 3

62) The total number of Hollywood movies watched by student E is what percent
more/less than the total number of movies watched by student B?

62) faemif E grRT 35 S giciqe fher @1 oo e, fendf B gr1 3 718 fberl @t oo
T 3§ fhaq ufawrd sifde/eH 82



a) 40%
b) 45%
c) 35%
d) 30%
e) 50%
Solution:
Total number of Hollywood movies watched by student

E =375 x%=240

. _ (#00-240) _ 1s0 — 400
Required percentage T * 100 200 X 100 = 40%

63) The total number of Hollywood movies watched by students C and B together is how
much more/less than the total number of Bollywood movies watched by student D & E
together?

63) famdf c 3k B gRT firerrepy 3l 1% Blefigs fher! o1 He J, faemdf o ofR E gR1
fireTex <l TS Sicligs fhert ot o T ¥ fat sifiem /ey 872
a) 54

b)y 74
c) 60
d) 64
e) 70

Solution:

Total number of Hollywood movies watched by
students C and B together = 250 X % + 400 x =

20
=75+ 220 =295

Total number of Bollywood movies watched by

200%12 | 375%9
students D and E together = N s

25 25
=96 + 135 =231
Required difference = 295 - 231 =64

64) Find the ratio of total number of movies watched by student C & D together to the
number of Bollywood movies watched by B, C and E together?

64) fagmdf ¢ 3R D gRT firareR <t TS fhed 1 $a T &, B, C 3R E gRI fHamax
3t TS diciigs et Bt TR ¥ SuTd J1d B |



a) 49:45
b) 45:49
c) 90:97
d 10:11
e 9:11

Solution:

R ired . 2504200 __ 450
equire ratio T 400%9 2507, B7SHI
+ 490
2o 10 %5

=45:49

65) The average of total number of movies watched by B and D is what percent of the
average of total number of movies watched by A and C.

65) B 3R D gRT ! Tt fherll ot Hat TReam T 3iId, A 3R C gRT & Tt fher| bt
Fd G- & 3Md PT foba wfawrd 82

a) 125%
b) 75%
c) 80%
d) 120%
e) 100%

Solution:

: _ (400+200) _ o
Required percentage = (3s0+250) X 100 = 1009

Number Series

Direction (66-71): What should come in place of the question mark (?) in
the following number series?
HEE RN EH



OO00000000 OD0DOO0 00000000 00D 000000 00DOad () 0o 0o0o
OO0 0000 D00 Doooee?

66) 10, 14, 23, 39, ?, 100
a) 72
b) 61
c) 64
d) 59

Solution: C

The pattern of the series is:
10+22=14

14 + 32 =23

23 +4%=39

39 +52=64

64 + 6% =100

Hence, the missing number is 64.

67)6,6,9, 18, 45, ?
a) 153
b) 125
c) 135
d) 145

Solution: C

The pattern of the series is:
6x1=6

6x15=9

9x2=18

18x2.5=45

45x3 =135

Hence, the missing number is 135.



68) 65, 66, 64, 67, 63, ?, 62
a) 67
b) 66
c) 68
d) 65

Solution: C

The pattern of the series is:

65+ 1=66

66—-2=64

64 +3 =67

67—-4=63

63+5=68

68 —6 =62

Hence, the missing number is 68.

69) 2, 3,8, 27,112,7
a) 534
b) 587
c) 493
d) 565

Solution: D
The pattern of the series is:
2x1+1=3
3x2+2=8



8x3+3=27

27 x4+4=112

112 x5+ 5=565

Hence, the missing number is 565.

70) 80, 84, 90, 98, 108, ?
a) 116
b) 120
c) 125
d) 133

Solution: B

The pattern of the series is:
80+4=84

84+6=90

90 +8 =98

98 + 10 =108

108 +12 =120

Hence, the missing number is 120.

71) 880, 440, 220, ?, 55, 27.5
a) 110
b) 102
c) 97
d) 115



Solution: A

The pattern of the series is:

880 x 0.5 =440

440 x 0.5=220

220x0.5=110

110x0.5=55

55x0.5=275

Hence, the missing number is 110.

Data Interpretation

Direction (72 to 76): Read the given data carefully and answer the following
guestions.

The line graph given below shows the user of Airtel and Jio network in 5 different
villages.

Note — One user only has one connection of network.

Direction : QT 7T Se1 1 e 9 ufeu ik Fufefad wsil & IR o’
1 feam T A1 W 5 S-S idl H TERed 3R fOY Aedd & STl B GXidl

gl
qic - Th IUANTH! P U Jedh bl Had b HaRH g

800
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P o R 3 T
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72) The no. of users of Jio in village S is what percentage of no. of users of Airtel in P
and R together.



72) T S # fS7 & IuaNThaieit o T-AT, P 3R R H {ee: TRed & IuanThdisif o
TRa & fpam ufaerd g

a) 60%
b) 30%
c) 45%
d) 33.33%
e) 50%

Solution:
450

4504550

Required percentage = * 100

= 4504

73) Average no. of users of Airtel in Q, S and R is how much more or less than average
no. of users of Jio in all the 5 villages.

73) Q, S 3R R H TWRA & ITATHArell B} 3gd Tem, gt 5 ial & Sy &
SUTNTR T3l B 3Nd T2 A ford-t 3ifties a1 HH B

a) 10
b) 0
c) 5
d) 15
e) 20

Solution:
Average no. of Airtel usersin Q, Sand R
600 + 650 + 550
3
Average no. of Jio users in all 5 villages
_ 700+550+600+4504650 _ o

5
So, required difference = 600 — 590 = 10

74) Find the ratio of Airtel users in village R and T together to Jio users in village P and
S together.

74) Td R 3R T & AR TORed IWANTH IS &1 711d P 3R s H e fordt
SIS ¥ SUTd Jd S|




a) 17:14
b) 19: 15
c) 21:24
d) 17:13
e) 26:23

Solution:
Z50+750 __13DD

700+450 1150

Required average =
= 26:23

75) The no. of users of Jio in village Q is what percentage more or less than no. of users
of Airtel in same village.

75) Tid Q # fS & IuaNTHarsit ol T-AT, Y9 7id H TR & IUTNTH A3 & Ta
Y fra ufawra e aTHA 3|

7.5%

Solution:
&s00-550

Required percentage = o0 X100 =18 %%

76) Invillage T, only three types of networks are used i.e., Airtel, Jio and Vodafone. If
no. of users of Vodafone are 30% of the total users, then find the no. of users of
Vodafone.

76) Ta T H, Had diF UHR & edd Pl JUTANT {1 oirdT g 3ufd Tored, fory ek
FSTHH | TS ASTHH & ITAEAISH B WA F& SUATGITS BT 30% 8, Al AISTHIH &
SIS B T I DIToTg



a) 400
b) 500
c) 600
d) 450
e) 550
Solution:

Tlotal users of Airtel and Jio in village T = 750 + 650 = 1400
So, required no. of Vodafone users = % * 30 = 600

Problems on Ages

77) Five years ago the ratio of ages of Naveen to Manoj was 5: 4 and nine years hence
the ratio becomes 7 : 6 respectively. Find the difference between their present ages?

77) U IS UgA T 3R TS 1 3R BT ST 5:4 AT T4 A I8 &1 ST HH: 7:6
B ST 8 | 3! aaHH 31 & &g BT 3R AT PifoTg?

a) 7 years
79N
b) 15 years
1599
c) 4years
499
d) 12 years
1299
e) 18 years
18 99
Solution:
Let ages of Naveen and Manoj, 5 vears ago was 5x and 4x respectively.
ATQ
Se+(549) _ 7
4x+(5+9) 6
x=7

So, present ages of Naveen and Manoj is 40 years and 33 years respectively.
Required difference = 40 — 33 = 7 years



Partnership

78) Neeraj started a business with an investment of Rs. 7500. Prashant joined him after
four months by investing Rs. 1000 more than Neeraj. If at the end of the year, the profit
share of Neeraj is Rs. 900, then find the total profit?

78) ~IRST 7500 ¥UY & A% & WY T TaU & Rl & | IR AgH & d1G, T=id kel
¥ 1000 T &1 9% Hh ITP 1Y FGH™ H A il 5| Al ¥ & 3id H, RS 1
Y i8R 900 3., A P ATH A1 Pifog?

1. Rs. 1270
2. Rs. 1180
3. Rs. 1580
4. Rs. 1450
5. Rs. 1360

Solution:

Ratio of profit share of Neeraj to Prashant
= 7500 X 12 : (7500 + 1000) x 8

= 45 : 34

So, required amount = 900 x (45+34)

= 1580 Rs.

Percentage

79) A shopkeeper marked up the price of an article by 60% and gives a discount of 20%.
If he earns a profit of Rs. 112 on the article, then find the selling price of the article?

79
) U MR fhdl 9% &1 Jed 60% 931 adl § IR SUUR 20% B Fe odl ¢ | TG 98 a%q
TR 112 3T &1 7Y 3fSTd HaT g | < I BT fashd Yoo J1d HIfT|

a) Rs. 300

b) Rs.512
c) Rs. 640

d) Rs. 448



e) Rs. 324

Solution:

Let the cost price of the article = Rs. 100x.

Marked price of the article = 100x x % = 160x Rs.

Selling price of the article = 160x X % = 128x Rs.

Profit = 128x — 100x = 28x
Given,28x =112

So, selling price of the article = % ¥ 128 = Rs.512

Time and Work

80) Sanjay can complete 80% of the work in 32 days and when he worked with Sunny,
they take 18 days to complete 75% of the same work. Find the time taken by Sunny
alone to complete the same work alone?

80) Tor farelt Ted T 80% QRT B T 32 37 o1 YHT AdT & TUT 91 98 JHH &1 T+ &
Y FRAT &, A S0 B BT 75% TR HRA | 18 &7 HT 90T a1 § 1 bl 1 gRT THH
B BT QR B | fordT 41 T J1d BT |

a) 60 days
60 fa-T

b) 40 days
40 f&=1

c) 30 days

30 faa

d) 80 day
80 fa

e) 75 days

75 faa



Solution:

Time taken by Sanjay to complete the whole work

= 32 x 2 = 40 days
B0

Time taken by Sanjay and Sunny together to

100
complete the whole work = 18 x =

= 24 days
Let total work be 120 units (LCM of 40 & 24)
So, efficiency of Sanjay and [Sanjay + Sunny] is

3 and 5 units/day respectively.

Required time = i‘; = 60 days
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